ATTAIKA E2-ENHAIKEZ 29.05.2018

ANSWER KEY
PART I: WRITING (30 MARKYS)

A. Use the pictures below to write a story about what Sarah did with her mother last
week. Your story should be between 60 and 80 words. (15 MARKYS)

B. Your friend Nicky has sent you this email. Write back to answer his questions. Use
between 60-80 words. (15 MARKYS)

PART II: READING COMPREHENSION (30 MARKYS)
A. Read the conversation and choose the best answer A-G. (5x2=10 MARKS)
(1) C. (2) E. (3) B. (4) F. (5) D.

B. Read the text below and put a tick (V) in the correct box to say whether the following
statements are TRUE or FALSE. (5X2=10 MARKS)

(1) F (2) F T (4) F )T

C. Read the ‘All road film festival’ story and complete the gaps in the report below using
ONE word for each as in the example. (5x2=10 MARKYS)

(1) festival  (2) documentaries (3) Aleksei (4) local (5) Lebanese
PART Ill: GRAMMAR (20 MARKYS)
A. Choose the correct option a, b or ¢ to complete the text. (10 x 1=10 MARKS)

(1) b. gets (2) a.in (3)a.has (4)b. _ (5) c. doesn’t go
(6) b. at (7) b.is (8) a. isn’ttaking  (9) a. is waiting (10) c. do you
believe

B. Match questions (1-5) to the answers (A-F). There is ONE extra answer which you
do NOT need to use. (5x1=5 MARKYS)

(1 E (2)D () F (4) A (5)B

C. Read the text about Ernest Hemingway. The words in bold are WRONG. Choose the
right words from the box to REPLACE them. You must use only FIVE of the words in
the box. (5x1=5 MARKYS)

()ymost  (2)which  (3)and (4) his (5) on



PART IV: VOCABULARY (20 MARKYS)

A. Laura and Thomas are talking about their family and what they will do while on
holiday. Use the words from the two boxes to complete their sentences. There is ONE
example. (10x1=10 MARKS)

(1) cousin  (2) husband (3) children (4) parents (5) wife (6) stay (7)
exciting (8) do (9) play (10) go

B. Victoria is going to the supermarket to buy some groceries. Look at the pictures and
complete the conversation. Use the words from the pictures to complete the
conversation. There is ONE EXTRA word picture. (5x1=5 MARKYS)

(1) shop assistant  (2) greengrocer (3) jar (4) balcony (5) internet café
C. Choose and circle the correct word to complete the text below. (5x1=5 MARKS)

(1) armchair (2) sardines (3) golf (4) single (5) that’s a shame



